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1 If p = log,,a,,q=logs,2a and r = log,, 3a, then find the value of
qr(2-p).

A1l

B.O

C.2

D.3

Answer:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Nn3p1iCoqYvb

° Watch Video Solution

1 1
2.1f 3° = (0.3)Y = 10000, then find the value of z 7
A1l
B 1
)
c 1
4
1
D. —
3
Answer: C

° Watch Video Solution

3.1f (2¢) 8% " = 16, then find the value of x.

A2
B.-2

C.Both (a) and (b)


https://dl.doubtnut.com/l/_Nn3p1iCoqYvb
https://dl.doubtnut.com/l/_2sJGCjKnPQjK
https://dl.doubtnut.com/l/_sInuEHZOkqQN

D. None of these

Answer: A

° Watch Video Solution

_4 _1 1
4. Find the value of 3?9 | 27lesw9 | 87 logy3

A. 603
B. 585
C.676

D. 524

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sInuEHZOkqQN
https://dl.doubtnut.com/l/_eRTq6PEkj5oR

51fpe R and q = log, <p+ ﬂ/p2 + 1>, then find the value of p in

terms of x and q.

Answer:

o Watch Video Solution

6. Express -0.5229 in the standard form and locate it on the number line.

o Watch Video Solution

7.Find the value of log 36, log 3600 and log 0.0036.

(N |


https://dl.doubtnut.com/l/_mObsnROm1TGM
https://dl.doubtnut.com/l/_sxoEBpG5Qthz
https://dl.doubtnut.com/l/_iDfYf1jqeDRU

[ @ Watch Video Solution

8. Find the value of log 36, log 3600 and log 0.0036.

° Watch Video Solution

9. Find the value of log 36, log 3600 and log 0.0036.

° Watch Video Solution

10. Find the antilog of 2.421.

° View Text Solution

11. Find the antilog of 1.4215.

° Watch Video Solution



https://dl.doubtnut.com/l/_iDfYf1jqeDRU
https://dl.doubtnut.com/l/_bIamALEv6pa9
https://dl.doubtnut.com/l/_890GbSct3EqL
https://dl.doubtnut.com/l/_OCfH0m00DOKE
https://dl.doubtnut.com/l/_QZdziaa2HoIz
https://dl.doubtnut.com/l/_idRZmzTBqYex

In8 x In81

12. Find the value of m

o Watch Video Solution

13. If log;y 4 = 0.6021 and log;, 5 = 0.6990, then find the value of log,

1600.

o Watch Video Solution

14. Find the value of y/16.51 approximately.

o Watch Video Solution

Very Short Answer Type Questions

1

1.
)

10g2 32 + 3 10g64 4 =

° Watch Video Solution



https://dl.doubtnut.com/l/_idRZmzTBqYex
https://dl.doubtnut.com/l/_ympO2YKLQMdG
https://dl.doubtnut.com/l/_jgKV8IVTduLQ
https://dl.doubtnut.com/l/_0frYd9ZEGkxo

2.The characteristic of the logarithm of 3.6275 is

o Watch Video Solution

3.If4log, 8 =3,then x =

o Watch Video Solution

2
4.If|ogx-§ log x =1, then x =

o Watch Video Solution

3 4 5
5.1f a = log. E’b: log. 55 and ¢ = log. 5,thena+b+c=

o Watch Video Solution



https://dl.doubtnut.com/l/_kXLmCdwosgOc
https://dl.doubtnut.com/l/_bmLdd8TGc1ep
https://dl.doubtnut.com/l/_elbwZQdqyVjD
https://dl.doubtnut.com/l/_gGyqnLmADKyh

6. The number of digits in the integral part of the number

logarithm is 4.8345 is

whose

o Watch Video Solution

7.1f log x = 32.756, then log 10x =

o Watch Video Solution

8. The characteristic of the logarithm of 0.0062 is

o View Text Solution

9.If log, z(where a > 1) is positive, then the range of x is

o Watch Video Solution



https://dl.doubtnut.com/l/_VE0DmfU9JoA9
https://dl.doubtnut.com/l/_tUVmCHYxO6c3
https://dl.doubtnut.com/l/_zdRYsRwM0jKn
https://dl.doubtnut.com/l/_AVRVX8mLAWGQ

10. If log 27.91 = 1.4458, then log 2.791 =

o Watch Video Solution

log15 — log6 _
" log20 — log 8 o '

° Watch Video Solution

12.If log 2 = 0.3010, then log 5 =

° Watch Video Solution

13. The value of log,; v/64 =

° Watch Video Solution



https://dl.doubtnut.com/l/_rRLykiZzJmi6
https://dl.doubtnut.com/l/_HeuD1xtiGrV3
https://dl.doubtnut.com/l/_ezPIxlnnq13V
https://dl.doubtnut.com/l/_fddrhjoHAc3W
https://dl.doubtnut.com/l/_1vmbTCM4uTZI

° Watch Video Solution

15. f log, 3 = x, then log,/5 v/64 =

° Watch Video Solution

1
16.If log,, (TQ)) = — 5, then find the value of x.

A3
B.4
C.5

D.7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1vmbTCM4uTZI
https://dl.doubtnut.com/l/_zQfQzZrvQ04D
https://dl.doubtnut.com/l/_J35a2TUNwXUz

o Watch Video Solution

18.1f 31897 — 2 then x =

o Watch Video Solution

19.1f log,,,  + log,,, y + log,,, z = log;; p, then p =

o Watch Video Solution

20. If loglo 4 + loglo m = 2, then m =

o Watch Video Solution

21. Simplify: 3logz 5 + logs 10 — logs 625.


https://dl.doubtnut.com/l/_n8vlwwJbGp9I
https://dl.doubtnut.com/l/_OIaxbbdrbttW
https://dl.doubtnut.com/l/_sptSpREl1GB8
https://dl.doubtnut.com/l/_EIDCfPEANMje
https://dl.doubtnut.com/l/_dySlN4jGjSjx

° Watch Video Solution

22.If log(a + 1) + log(a-1) =log 15, then a =

° Watch Video Solution

23. The value of log 10 + log 100 + log 1000 + .. + log 10000000000 =

° Watch Video Solution

24. If the number of zeroes between the decimal point and the first non-
zero digit of a number is 2, then the characteristic of logarithm of that

number is

° View Text Solution



https://dl.doubtnut.com/l/_dySlN4jGjSjx
https://dl.doubtnut.com/l/_JsIQB2GdTudI
https://dl.doubtnut.com/l/_l1z956JHAYl8
https://dl.doubtnut.com/l/_83njTScmnWSi

25. The value of

log(tan10°) + log(tan20°) + log(tan45°) + log(tan70°) + log(tan80°)

o Watch Video Solution

Short Answer Type Questions

3 4 15
1. Simplify: 10g<§) + log(g) — 10g(1—6).

° Watch Video Solution

1 1
+ + =
log,abc  log,abc  log, abc

2.Show that 1.

o Watch Video Solution

3. Solve for real value of x: log (x- 1) + log (ac2 + x + 1) = log 999.



https://dl.doubtnut.com/l/_9nsgSoewWsZI
https://dl.doubtnut.com/l/_k0nPb97cOiUP
https://dl.doubtnut.com/l/_NQPDDCQbsF4K
https://dl.doubtnut.com/l/_2Yu2hqRVUOAJ

I ° Watch Video Solution

1 3
4.If ——— = —, then find the value of a.
1+ log, 10 2

° Watch Video Solution

5.1f 2% + y? = 23zy, then show that 2log(x +y) = 2log 5 + log x + log y.

° Watch Video Solution

6. If log;, 2 = 0.3010 and log;, 3 = 0.4771, then find the value log;, 135.

° Watch Video Solution

7.1flog;y 2 = z and log;, 3 = y, then find log;, 21.6.

° Watch Video Solution



https://dl.doubtnut.com/l/_2Yu2hqRVUOAJ
https://dl.doubtnut.com/l/_ou7J9b067LTj
https://dl.doubtnut.com/l/_MhWMohpFXcxO
https://dl.doubtnut.com/l/_fc26FGynvl1U
https://dl.doubtnut.com/l/_mBJ9mLPndeAo
https://dl.doubtnut.com/l/_GZ2DEImV1Xct

8.1f log; 2 = 0.3010, then find the number of digits in (64)10.

° Watch Video Solution

9. Simpli .
implify log, log, log, 256

o Watch Video Solution

10. Prove that log; 810 = 4 + logs 10.

o Watch Video Solution

Essay Type Questions

1. Solve: %83 | glog:® — 18

° Watch Video Solution



https://dl.doubtnut.com/l/_GZ2DEImV1Xct
https://dl.doubtnut.com/l/_uh2WDzKitOJD
https://dl.doubtnut.com/l/_1mgvecGMlsCg
https://dl.doubtnut.com/l/_1UID2uR0iYIM

1
2.If p* + ¢° = 14pg, then prove that 10g<pT+q> = 5[10gp + log g

° Watch Video Solution

1
3. Without using tables, find the value of 41log;, 5 + 5log;; 2 — Eloglo 4.

° Watch Video Solution

1 logb 1
4.f 282 _ 080 _ 08¢ , then prove that a®b’c® = 1.
b—c c—a a—>

° Watch Video Solution

5. Arrange the following numbers in the increasing order of their

magnitude. log; 9, log, ¢ 16, log 41, log, 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_R10LbZdQRRpj
https://dl.doubtnut.com/l/_BXr1CcDkaVw9
https://dl.doubtnut.com/l/_50AX0aBkQYj0
https://dl.doubtnut.com/l/_tdG8CCUg2GzD

1. If log;, = 2.5,then x =

A. 40
B. 256
C.1024

D. 1025

Answer: C

° Watch Video Solution

2.1f log 5=0.699 and (1000)” = 5, then find the value of x.

A. 0.0699
B.0.0233

C.0.0233


https://dl.doubtnut.com/l/_oAiQ0IDWrd5d
https://dl.doubtnut.com/l/_2LvNrvUDWZoN

D.10

Answer: C

° Watch Video Solution

18 35 15
3.The value of log 1 + log YTy — log ) =

A.O
B.1
C.2

D.log,s 15

Answer: A

o Watch Video Solution

4.1f logya + logga + logg, a = —,thena=


https://dl.doubtnut.com/l/_2LvNrvUDWZoN
https://dl.doubtnut.com/l/_dbbOHESXSTGe
https://dl.doubtnut.com/l/_YIKEfqWdWoaj

A 27

B. 243

C. 81

D. 240

Answer: B

o Watch Video Solution

5. 1f logy[(logg )] < 0, then x belongs to

A.(1,8)

B.( — 00, 8)

C. (8, 00)

D.(8,1)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YIKEfqWdWoaj
https://dl.doubtnut.com/l/_Gbe0ZwIg7w69

3
6. If logs. % — 2logz 3z° = a — blogs z, then find the value of a + b.

A.6

Answer: C

o Watch Video Solution

7. The value of logy, 5 lies between

and

and

W= N

and

N S N e


https://dl.doubtnut.com/l/_Gbe0ZwIg7w69
https://dl.doubtnut.com/l/_jj8MKdyscglu
https://dl.doubtnut.com/l/_B3awZJUpxF9a

D.2and3

Answer: A

° Watch Video Solution

4 1
8.f z = log:. —. log,. —.log: 0.8, then
2 3 3 3

Az >0

B.x <0

Answer: A

° Watch Video Solution

9.1f log,,, 729 = x, then the value of log,; 256 is ______


https://dl.doubtnut.com/l/_B3awZJUpxF9a
https://dl.doubtnut.com/l/_W2WV9XACENwz
https://dl.doubtnut.com/l/_sNTIqeYc5QGN

N 4(3 — z)
(3+ )

5 43+ x)
(3-2)
(3+x)
4(3 - z)
(3-2)
4(3 + )

Answer: A

o Watch Video Solution

10. The solution set of the equation log (2x - 5) - log 3 = log 4 - log (x + 9)

Answer: D



https://dl.doubtnut.com/l/_sNTIqeYc5QGN
https://dl.doubtnut.com/l/_p1erWVPolUIP

| ° Watch Video Solution

1. If

log,,tan19° + log,,tan21° + log,,tan37° + log,,tan45° + log,, tan69°

B.1
C.2

D.4

Answer: C

o Watch Video Solution

12. The solution set of the equation log (x + 6) -log 8 =log 9 -log (x + 7) is


https://dl.doubtnut.com/l/_p1erWVPolUIP
https://dl.doubtnut.com/l/_RIPHpksPQgvw
https://dl.doubtnut.com/l/_rBJCZ6fyTaiD

A.{-15, 2}

B. {2}

C.{-15,0, 2}

D. {0, 2}

Answer: B

o Watch Video Solution

13. If logyy 4 = = and log,, 5 = y, then express log,, 32 in terms of x and
y.

A 5(1+x+y)

B.5(1-x+Y)

C.5(1-x-y)

D.5(1+x-y)

Answer: C



https://dl.doubtnut.com/l/_rBJCZ6fyTaiD
https://dl.doubtnut.com/l/_k9Rd7ZXMacaQ

| ° Watch Video Solution

1
14.1f log,, 11 = p, then log,, (1—10) =

A(l+p) !
B.—(1+p)

C.1p

b 1
" 10p

Answer: B

° Watch Video Solution

4
15. If log,. % + 3log, 4z* = p + qlog, z, then the value of log,(q) is


https://dl.doubtnut.com/l/_k9Rd7ZXMacaQ
https://dl.doubtnut.com/l/_oTSzu2pY91tu
https://dl.doubtnut.com/l/_S8C0rAcloI9a

C.3

D.2

Answer: A

o Watch Video Solution

16.If log, = + logg 2% + log;q 2® = —,then log, 8 =

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_S8C0rAcloI9a
https://dl.doubtnut.com/l/_0sqMsoTaYBkm

17.1f log(, 1) (z — y) = 7, then the value of log(,2_,») (:c2 + 2zy + y2)

T+y

A 14

NI CTEN N T

Answer: D

o Watch Video Solution

18. The value of logs; 3 lies between

and

and

[ Y IS JCY

and 1

w
N = W= A=

D.3 and 4



https://dl.doubtnut.com/l/_ver2wNjHQAAm
https://dl.doubtnut.com/l/_TudvJOUN1Etu

Answer: A

° Watch Video Solution

1
19. Iflog(a g_ b) = E(loga + logb), then % + %=

A.30
B. 31

C.32

D.34

Answer: D

° Watch Video Solution

1
20. If logp q = z, then logl/p <E)=

1
A —
x


https://dl.doubtnut.com/l/_TudvJOUN1Etu
https://dl.doubtnut.com/l/_SnA4hp67HhsS
https://dl.doubtnut.com/l/_F0mrx3nug5Vy

Answer: C

° Watch Video Solution

2. If log(,_, (z+y) =35 then

log,» (2 — 2xy + y*)?

Answer: C

what

is

the

value

of

o Watch Video Solution



https://dl.doubtnut.com/l/_F0mrx3nug5Vy
https://dl.doubtnut.com/l/_ANIUh8zpFt4S

22. The value of log, 1 + log, 22 + log, 33 (where a is a positive number

B. 209
C.145

D. 89

Answer: B

o Watch Video Solution

1
log, /3. . The appropriate symbol in the blank is


https://dl.doubtnut.com/l/_ANIUh8zpFt4S
https://dl.doubtnut.com/l/_QcGsIuHdsMUp
https://dl.doubtnut.com/l/_fZHqvX94XBDb

D. Cannot be determined

Answer: B

° Watch Video Solution

24.The value of log; [log2 {log4 (10g5 6254) }] is

A0
B.1
C.2

D.3log 4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fZHqvX94XBDb
https://dl.doubtnut.com/l/_kMHQPkqejJ02

25.1f log(z — 3) + log(z + 2) = log(z® + = — 6), then the real value of
X, which satisfies the above equation is

A.is any value of x

B. is any value of x except x=0

C.is any values of x except x =3

D. Does not exist.

Answer: D

o Watch Video Solution

1.If log

<\/b b\/Wb)( \/\/a Java ):$logba,thenx=

32
16


https://dl.doubtnut.com/l/_qy2iG8USHT94
https://dl.doubtnut.com/l/_I2QmubgfmxRP

Answer: C

o Watch Video Solution

2.1f 7°8% 4 287 = 98, then log, /7 =

A. 47

B. 51

D. 49

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_I2QmubgfmxRP
https://dl.doubtnut.com/l/_VxSxunEdkkSL
https://dl.doubtnut.com/l/_O6iQ28EFvcm3

3.F 787 4 287 = 98, then log;y /T = ____.

D.O

Answer: A

° Watch Video Solution

4.The value of logy a + log: a® + logys a® + ... + logy, a”

B.log, a

n(n+1
C. %10&,@

D. log a™


https://dl.doubtnut.com/l/_O6iQ28EFvcm3
https://dl.doubtnut.com/l/_0XtEtC4Kasmm

Answer: D

° Watch Video Solution

5.1f log,(logy ) + logy(log, ) = 2,then find log, 4.

D.O

Answer: B

° Watch Video Solution

6.If pgr = 1then find the value of log,, p + log,,, g + log,, 7.

A.O


https://dl.doubtnut.com/l/_0XtEtC4Kasmm
https://dl.doubtnut.com/l/_4ZAWELNJccwI
https://dl.doubtnut.com/l/_0SemBJOtGu9H

D.1

Answer: C

° Watch Video Solution

7.If logg [log, {log, (logg 216°) }] = 0, then logz(3z) =

A.logy; 12
B.1
C.2

D. log; 6

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0SemBJOtGu9H
https://dl.doubtnut.com/l/_T25EFceDdRJk
https://dl.doubtnut.com/l/_OaOrloyvBxK4

8.1f a®, b” and ¢ are in GP, then which of the following is/are true?
(A) a, b, carein GP
(B) log a,log b, log c are in GP
(C)log a,log b,loc carein AP
(D) a,b, carein AP
A.Aand B
B.Aand C

C.Band D

D.Only A

Answer: B

o Watch Video Solution

1 1 1 1
+ + + ...+
logyn log, n log, n logg n

9. The value of

A.log, 8!


https://dl.doubtnut.com/l/_OaOrloyvBxK4
https://dl.doubtnut.com/l/_HX1847i6OLTA

B.log, 8

8!
C.log, <7>

D. logn! 8'

Answer: C

° Watch Video Solution

1 logb 1
10. oga = i = o8¢ then value of abc =

y—=z z—T T —y

A.a"bYc?

B.a¥ TFH* TP Y

C.1

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_HX1847i6OLTA
https://dl.doubtnut.com/l/_KvEsgyhAeDyt
https://dl.doubtnut.com/l/_BFXtecNzv1lp

3

1. If = — .
log,, 10 log,10 T

A. 100p>

Answer: D

° Watch Video Solution

12. If loggm = 3.5 and logy n = 7, then the value of m in terms of n is


https://dl.doubtnut.com/l/_BFXtecNzv1lp
https://dl.doubtnut.com/l/_Kj1Q4mYViqKU

Answer: A

° Watch Video Solution

13.1f log;5(log; ) < 0, then x belong to

A. (1, 00)
B.(1,7)
C. (1, 00)

D.(1,7)

Answer: B

° Watch Video Solution

14. The value of logsg; 7 lies between

A. g and —


https://dl.doubtnut.com/l/_Kj1Q4mYViqKU
https://dl.doubtnut.com/l/_Jz7QstfdCjyK
https://dl.doubtnut.com/l/_aMn8vZfOvvoK

and

and

and

N
S| = U= |
I I R N B O T N

Answer: B

° Watch Video Solution

15.If log;, tan 31°. log;, tan 32°...1og;, tan60° = log 10a, then a =

A.10
B.1
C.4

D.2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aMn8vZfOvvoK
https://dl.doubtnut.com/l/_8WD4AmbX17PH

logy (w275x+5)

1. The solution set for |1 — z| =1,is

A.{0,1, 4}
B. {1, 4}
C.{0, 4}

D.{0, 2, 4}

Answer: C

° Watch Video Solution

2.The value of log \/2\/2\/2...00 times + log \/3\/3\/3...00 times is

Al
B.2

C.log5


https://dl.doubtnut.com/l/_gefhw4oymZFK
https://dl.doubtnut.com/l/_vsLMYP1xBTUm

D. log6

Answer: D

° Watch Video Solution

3. The least positive integral

Elogm m — log,, »10is

A0

B.1

C.2

Answer: B

value

of

the

expression

° Watch Video Solution



https://dl.doubtnut.com/l/_vsLMYP1xBTUm
https://dl.doubtnut.com/l/_vo48umVlNgSM

4.The domain of log (3 - 5x) is

Answer: C

° Watch Video Solution

5.1f log; 4 log; y > 2, then the smallest possible integral value of x +y

(given z # y) is

A7

B.14

D. 20


https://dl.doubtnut.com/l/_pWCa4uoBkK0Z
https://dl.doubtnut.com/l/_RbWabvELP8TY

Answer: C

° Watch Video Solution

6.1f p,q,rarein GP and a? = b? = ¢Y, then which of the following is true?

A log.b =log, c

B.log. b = log, a

C.log.a = logy c

D. None of these

Answer: B

° Watch Video Solution

- 1 1\ /1\°
7.The value of log, 5\/5\/5... + log 54— 3 + 3 + ...00



https://dl.doubtnut.com/l/_RbWabvELP8TY
https://dl.doubtnut.com/l/_DYSHBCtqlMup
https://dl.doubtnut.com/l/_74ALM3JHKSRJ

A1l

B. 25

C.10

D. 20

Answer: A

o Watch Video Solution

2
8. The solution set of |z + 2|8 (e +624+9) _ 1 s

A{—3, —4}
B.{0, — 3}
c{—4, —1}
D.{—-3, — 1}
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_74ALM3JHKSRJ
https://dl.doubtnut.com/l/_3Z7UpzPj86eK

Answer: A

° Watch Video Solution

10.1f log, /5 (logy (z® — 5)) > 0, then

Az e (—o0, —3)U(3,00)
B.z € (— 00, —+/6) U (1/6, )
Cze(-3,6)U(/6,0)


https://dl.doubtnut.com/l/_3Z7UpzPj86eK
https://dl.doubtnut.com/l/_x1bdwlJ0xhW5
https://dl.doubtnut.com/l/_hneBRNmVwX6K

D.z € (-3, —6) U(V6,3)

Answer: D

° Watch Video Solution

M. If p = log, bc, ¢ = logy ca and r = log, ab, then which of the following

is true ?

Ap+q+r+2=pgr

B.pqr=2

Cp+q+1r=mpgr

D.pgr=1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hneBRNmVwX6K
https://dl.doubtnut.com/l/_t0Ylob9pxdTC

46
12. If log, p + logg p + logs, p = = then p =

A. 128
B. 64
C.32

D. 256

Answer: B

o Watch Video Solution

13.If p and q are positive numbers other than 1, then the least value of

log,p +log,q| is

A3
B.1
C.2

D.4


https://dl.doubtnut.com/l/_W6Y41mDkaIBO
https://dl.doubtnut.com/l/_fLdIdlvTB0zB

Answer: C

° Watch Video Solution

14. If log,g 81 = x, then log;, 3 =

r+4
2z

r+4
T

T

r+4
2z

r+4

Answer: D

° Watch Video Solution

log;m _

15.If log; p, log,, p and log, p are in AP, then (In)

A. n2


https://dl.doubtnut.com/l/_fLdIdlvTB0zB
https://dl.doubtnut.com/l/_GtJR21D370vS
https://dl.doubtnut.com/l/_5ZyXy3RO4zn3

C.l?

D.p".

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5ZyXy3RO4zn3

